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2 - 1-2 101 | =77 =T] 166.86 84. 00 250. 86 12888 3033084 b
2 — 1-2 102 | =T =T] 166.80 84. 04 250./84 12588 3157574 EH
2 - 1-2 103 | =/AM/T =T] 166.80 84. 04 250. 84..° § > 12588 3157574 EH
2 - 1-2 104 | =T =T] 166.80 84. 04 250. 84 12588 3157574 B
2 - 1-2 105 | =#PiT7=T] 166.80 84. 04 250. 84 12588 3157574 EH
2 - 1-2 106 | =#pi/T=T1] 166.86 84. 00 250. 86 12788 3207998 E IR
2 - 3-4 301 | —HE=T=T] 147.24 23. 14 170. 38 16171 2755215 EIR
2 - 3-4 302 | —p =T =T 147.18 23. 32 170. 50 15871 2706006 F
2 - 3-4 303 | —H=T="T] 147.18 23.32 170. 50 15871 2706006 E
2 - 3-4 304 | —F =T =T] 147.18 23. 32 170. 50 15871 2706006 E
2 - 3-4 305 |\ —/5 =T =T 147.18 23. 32 170. 50 15871 2706006 E
2 3-4 306 | = =T=T] 147.24 23. 14 170. 38 16071 2738177 E
2 - 5-6 501 | =FEMT =T 135.04 0. 00 135. 04 19688 2658668 ER
2 5-6 502 | =EHT =T 134.99 0. 00 134. 99 19388 2617186 ESa
2 - 5-6 503 | =T =T 134.99 0. 00 134. 99 19388 2617186 E R
2 - 5-6 504 | =EM)T =T 134.99 0. 00 134. 99 19388 2617186 £
2 - 5-6 505 | =HEMT =T 134.99 0. 00 134. 99 19388 2617186 EH
2 - 5-6 506 | =HEMT =T 135.04 0. 00 135. 04 19588 2645164 F
3 - 1-2 101 | =FEMT =T 167.16 84. 20 251. 36 12888 3239528 E
3 - 1-2 102 | =#HMT =T] 167.11 84. 25 251. 36 12588 3164120 E
3 - 1-2 103 | =HEMT =T 167.11 84. 25 251. 36 12588 3164120 EL
3 - 1-2 104 | =HEMT =T 167.21 84. 20 251. 41 12588 3164749 EL
3 - 1-2 105 | =77 =T] 167.21 84. 20 251. 41 12588 3164749 EIA
3 - 1-2 106 | =FHEMT=T] 167.11 84. 25 251. 36 12588 3164120 EH
3 - 1-2 107 | =T =T] 167.11 84. 25 251. 36 12588 3164120 £
3 - 1-2 108 | =#MT =T] 167.16 84. 20 251. 36 12288 3088712 E
3 - 3-4 301 | —E=T=T] 147.51 23. 20 170. 71 16171 2760551 ES8a0
3 3-4 302 | —E =T =T 147.45 23. 38 170. 83 15871 2711243 E
3 - 3-4 303 | = =T =T 147.45 23. 38 170. 83 15871 2711243 E
3 - 3-4 304 | —HE=T=T] 147.56 23. 38 170. 94 15871 2712989 ER
3 - 3-4 305 | = =T=T] 147.56 23. 38 170. 94 15871 2712989 e
3 - 3-4 306 | —5 =T =T 147.45 23. 38 170. 83 15871 2711243 E I
3 — 3-4 307 | = =T="T] 147.45 23. 38 170. 83 15871 2711243 E
3 3-4 308 | —p5 =T = 1] 147.51 23. 20 170. 71 15571 2658125 SN
3 - 5-6 501 | =HEFT="T] 135.29 0. 00 135. 29 19688 2663590 EH
3 - 5-6 502 | =FEMT=T] 135.24 0. 00 135. 24 19388 2622033 ER
3 - 5-6 503 | =BEMT=T] 135.24 0. 00 135. 24 19388 2622033 E
3 - 5-6 504 | =REMT=T] 135.34 0. 00 135. 34 19388 2623972 FE
3 - 5-6 505 | =BT =T 135.34 0.00 135. 34 19388 2623972 ER
3 - 5-6 506 | =HEFT=T] 135.24 0. 00 135. 24 19388 2622033 E
3 - 5-6 507 | =BT =T 135.24 0. 00 135. 24 19388 2622033 ER
3 - 5-6 508 | =HEMT="T] 135.29 0. 00 135. 29 19088 2582416 EH
5 - 1-2 101 | =RMT=T] 166.91 84. 37 251. 28 12888 3238497 EH
5 - 1-2 102 | =#EPT=T] 166.85 84. 41 251. 26 12588 3162861 ESSN
5 -~ 1-2 103 | =#MT=T] 166.85 84. 41 251. 26 12588 3162861 FE
5 - 1-2 104 | =T =T] 166.85 84. 41 251. 26 12588 3162861 FE b
5 - 1-2 105 | =#FiT=T] 166.85 84. 41 251. 26 12588 3162861 EH
5 - 1-2 106 | =HPT=T] 179.29 88. 85 268. 14 13088 3509416 ER
5 - 3-4 301 | —F =T =T 147.28 23. 16 170. 44 16171 2756185 E
5 - 3-4 302 | = =T =T] 147.23 23.16 170. 39 15871 2704260 E
5 ~ 3-4 303 | —HE=T="T] 147.23 23. 16 170. 39 15871 2704260 EH
5 - 3-4 304 | —/5 =T =T 147.23 23. 16 170. 39 15871 2704260 EH
5 - 3-4 305 | —H=T=T] 147.23 23. 16 170. 39 15871 2704260 EN
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5 - 3-4 306 | =T =T 157.93 26. 67 184. 60 163741 3022087 %fﬁ'
5 = 5-6 501 —HMRIT=T] 135.08 0. 00 135. 08 19688 2659455 E R
5 — 5-6 502 | =EmIT="T] 135.03 0. 00 135. 03 19388 2617962 ESvN
5 = 5-6 503 | =F®IT=T] 135.03 0. 00 135. 03 19388 2617962 EIR
5 = 5-6 504 — T =T 135.03 0. 00 135. 03 19388 2617962 EIR
5 = 5-6 505 | =mMT =T 135.03 0. 00 135. 03 19388 2617962 E
5 56 506 | M)A IT P 141. 74 0. 00 141. 74 19888 2818925 EH
9 = 1-2 101 —EMIT=T] 179.10 87.15 266. 25 14188 3771555 E IR
9 - 1-2 102 | =JEmIT = T| 166.68 83. 15 249. 83 13588 3394690 EI
9 - 1-2 103 | =/HMT =T 166.68 83. 15 249. 83 13588 3394690 EHR
9 - =2 104 | =HMmT=T] 166.68 83. 15 249. 83 13588 3394690 EH
9 = 1-2 105 — T = T| 166.81 83. 15 249. 96 13588 3396456 E R
9 - 1-2 106 VM =/T/ ] 186.03 135. 59 321.62 14788 4756117 ESN
9 - 3-4 301 —EMIT=T| 157.76 27.92 185. 68 17471 3244015 E R
9 - 3-4 302 — 5 =JT = T| 147.08 25. 14 172. 22 16871 2905524 B2
9 — 3-4 303 — B =T =T 147.08 25. 14 172. 22 16871 2905524 E
9 - 3-4 304 — B =T="T] 147.08 25. 14 172. 22 16871 2905524 EHR
9 . 3-4 305 | —H=T7=T] 147.20 25. 14 172. 34 16871 2907548 ESyIN
9 . 3-4 306 | =AP TR P] 168. 53 29. 66 198. 19 19071 3779681 EH
9 B 5-6 501 PR T I 2] 141. 60 0. 00 141. 60 20988 2971901 E
9 = 5-6 502 | =BT =T 134.71 0. 00 134. 71 20388 2746467 EH
9 ~ 5-6 503 | =HEMT=T] 134.71 0. 00 134. 71 20388 2746467 EH
9 5-6 504 | =EmIT=T] 134.71 0. 00 134. 71 20388 2746467 EH
9 - 5-6 505 | =T =T 135.01 0. 00 135. 01 20388 2752584 EH
9 - 5—6 506 |\ HERIT— T 142.92 0. 00 142. 92 23888 3414073 ER
29 - 1-2 101 | HE =T/ | 186.21 135. 89 322. 10 14888 4795425 EH
29 = 1-2 102 | =EmT=T] 166.97 83. 33 250. 30 13588 3401076 E R
29 — 1-2 103 | =EmT =T 166.84 83. 33 250. 17 13588 3399310 EIR
29 — 1-2 104 | =JEmRT =T] 166.94 83. 29 250. 23 13588 3400125 EH
29 = 1=2 105 | =EmT =T 166.94 83. 29 250. 23 13588 3400125 EI
29 = 1=2 106 —HMT—=T] 166.84 83. 33 250. 17 13588 3399310 ER
29 — 1-2 107 | =EmIT=T] 166.84 83. 33 250. 17 13588 3399310 EH
29 - 1=2 108 | =EmIT =T 179. 28 87. 42 266. 70 14088 3757270 EH
29 = 3-4 301 —JEMITH ] 168. 69 29. 72 198. 41 19171 3803718 ESyIN
29 - 3-4 302 | —HE=/T=T] 147.34 25. 20 172. 54 16871 2910922 EH
29 - 3-4 303 | —HE=/T=T] 147.22 25. 20 172. 42 16871 2908898 EH
29 = 3-4 304 | —HE=T=T] 147.32 25. 20 172. 52 16871 2910585 EH
29 - 3-4 305 | =B =T=T] 147.32 25. 20 172. 52 16871 2910585 ER
29 = 3-4 306 | —H=/T =T 147.22 25. 20 172. 42 16871 2908898 EH
29 — 3-4 307 | == =T 147.22 25. 20 172. 42 16871 2908898 EH
29 - 3-4 308 | —HEmT =T 157.92 28. 19 186. 11 17371 3232917 E
29 - 5-6 501 | #)HEMT— T 143.06 0. 00 143. 06 23988 3431723 EI
29 - 5-6 502 | =AM T="T] 135.14 0. 00 135. 14 20388 2755234 E IR
29 = 5-6 503 | =BT =T 134.84 0. 00 134. 84 20388 2749118 EIR
29 - 5-6 504 | =T =T 134.94 0. 00 134. 94 20388 2151157 £
29 - 5-6 505 | =/AMT =T] 134.94 0. 00 134. 94 20388 2051157 E R
29 - 5-6 506 | =HRIT=T] 134.84 0. 00 134. 84 20388 2749118 EIR
29 - 5-6 507 | =mBEmIT =T 134.84 0. 00 134. 84 20588 2776086 EIR
29 B 5-6 508 | PRT R P 141. 73 0. 00 141.73 20888 2960456 E R
30 - 1-2 101 = EMT=T] 178.82 88. 59 267.41 14588 3900977 ESvaN
30 = 1=2 102 | =EmT=T] 197.95 88. 63 286. 58 14288 4094655 EIR
30 = 1-2 103 | =T =T] 179. 24 88. 59 267. 83 14288 3826755 EIR
30 = 1-2 104 | =EmIT=T] 179.24 88. 59 267. 83 14288 3826755 EHA
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30 105 | =mEMT =T 179.24 88. 59 267. 83 14288 3826755 2N /
30 106 | =m#T = 1] 179.29 88. 54 267. 83 14488 3880321 ol
30 301 | —EET =T 157.60 28. 51 186. 11 17871 3325972 £ R
30 302 | —EmT =T 177.68 28. 74 206. 42 17571 3627006 ER
30 3-4 303 | —AHIT=T] 157.87 28. 74 186. 61 17571 3278924 ER
30 3-4 304 | —AKEIT=T] 157.87 28. 74 186. 61 17571 3278924 EIR
30 3-4 305 | —HEmIT=T] 157.87 28. 74 186. 61 17571 3278924 ER
30 3-4 306 | —EmT =T 157.93 28. 51 186. 44 17771 3313225 EH
30 5-6 501 | MEFET A ] 141. 74 0. 00 141. 74 21388 3031535 EH
30 5-6 502 | P EET A ] 148. 74 0. 00 148. 74 21088 3136629 ES
30 5-6 503 | PiAEET T 141. 70 0. 00 141. 70 21088 2988170 ER D
30 5-6 504 | PIEFEITH ] 141. 70 0. 00 141. 70 21088 2988170 ESD
30 5-6 505 | P T AT 141. 70 0. 00 141. 70 21088 2988170 EHR
30 5-6 506 | FEFEIT A 2] 141. 74 0. 00 141. 74 21288 3017361 EM
38 1-4 101 VWi =T % 2] 296.53 148. 14 444. 67 18329 8150356 E
38 1-2 102 | =HEAT =T 177.05 86. 04 263. 09 14288 3759030 EH
38 1-2 103 | =mAT="T1] 177.02 86. 04 263. 06 14288 3758601 EH
38 1-2 104 | =mMT="T] 177.02 86. 04 263. 06 14288 3758601 EH
38 1-2 105 | =mwiT=T1] 176.93 86. 09 263. 02 14288 3758030 EIR
38 1-2 106 | =mMT="T] 176.93 86. 09 263. 02 14288 3758030 ER
38 1-2 107 | =mEAT="T] 177.05 86. 04 263. 09 14288 3759030 EH
38 1-4 108 | W5 =T % 2| 296.53 148.14 | 444.67 18229 8105889 EM
38 3-4 302 | —AMT=T] 155.96 27.77 183. 73 17871 3283439 ER
38 3-4 303 | —HmIT =T 155.94 27.93 183. 87 17571 3230780 ER
38 3-4 304 | AT =T] 155.94 27.93 183. 87 17571 3230780 ER
38 3-4 305 | — BT =T] 155.84 27.93 183. 77 17571 3229023 EH
38 3-4 306 | —HmT =T 155.84 27.93 183. 77 17571 3229023 EIR
38 3-4 307 | —HBEET =T 155.96 27. 77 183. 73 17771 3265066 EN
38 5-6 502 | FiEEET AT 139. 92 0. 00 139. 92 21388 2992609 EH
38 5-6 503 VWG PAT R 2] 139.97 0. 00 139. 97 21088 2951687 ESN
38 5-6 504 | PR T R 2] 139. 97 0. 00 139. 97 21088 2951687 E
38 5-6 505 | FiEEETH 2] 139. 87 0. 00 139. 87 21088 2949579 ER
38 5-6 506 | P TR ] 139. 87 0. 00 139. 87 21088 2949579 EH
38 5-6 507 | PiERETF 2] 139. 92 0. 00 139. 92 21288 2978617 E M
10 1-2 101 | =/T’ ] 186.21 135. 89 322. 10 14888 4795425 EIR
10 1-2 102 | =mEMT =T 166.97 83. 33 250. 30 13588 3401076 E R
10 1-2 103 | =mAT=T] 166.84 83. 33 250. 17 13588 3399310 ER
10 1-2 104 | =HEPT =T 166.94 83. 29 250. 23 13588 3400125 ES
10 1-2 105 | =T =T 166.94 83. 29 250. 23 13588 3400125 EI
10 1-2 106 | =HPT =1 166.84 83. 33 250. 17 13588 3399310 ERa
10 1-2 107 | =mEAT=T] 166.84 83. 33 250. 17 13288 3324259 ERD
10 1-2 108 | =mmT =T 179.28 87. 42 266. 70 13588 3623920 ES
10 3-4 301 | =EmTM ] 168.69 29. 72 198. 41 19171 3803718 ER
10 3-4 302 | —E=T="T] 147.34 25. 20 172. 54 16871 2910922 EHR
10 3-4 303 | —R=T=T] 147.22 25. 20 172. 42 16871 2908898 E
10 3-4 304 | —HE=/T=T] 147.32 25. 20 172. 52 16871 2910585 E
10 3-4 305 | —E=T=T] 147.32 25. 20 172. 52 16871 2910585 ER
10 306 | —E=T=T] 147.22 25. 20 172. 42 16871 2908898 E
10 307 | —R=T=T] 147.22 25. 20 172. 42 16371 2822688 ER
10 308 | —HEmT=T] 157.92 28. 19 186. 11 16871 3139862 E
10 501 | PIEREIT— 1] 143.06 0. 00 143. 06 23988 3431723 £
10 502 | =AM =T 135. 14 0. 00 135. 14 20388 2755234 E I
10 503 | =T = 1] 134.84 0. 00 134. 84 20388 2749118 FEIR

% 301, 3£ 4 0




KRR MEST ) B (—FE—4) $T&i§

HERELR. BmARS AEAE IR HLoRE 1828
FREER: KkEXBEEF=FRERAF ﬁammz% %W ?@E%ﬁ%
} | B W m A () H@_’ﬁ‘*
S| 2o | B | BS kil # FER | TFER]C & § ("71:/
(m) (m*) (m) | m i
10 - 5-6 504 | =m@r =1 134.04 0. 00 134,94 /L 20388 2751157 EH
10 = 5-6 505 | =mmr=1] 134.94 0. 00 13494 I-F 20388 2751157 E
10 = 5-6 506 | =mmiF =] 134.84 0. 00 134.84 | 20388 2749118 E
10 - 5-6 507 | =mmir =1 134.84 0. 00 134.84 | 20088 2708666 E
10 - 5-6 508 |mimEmrm Pl 141,73 0. 00 141.73 | 20388 2889591 ERTS
11 -~ 1-2 101 |=mmr="1] 179.19 | 87.86 | 267.05 | 13688 3655380 EST8
11 = 1B 102 |=mmr="] 166.76 | 83.75 [ 250.51 | 13588 3403930 £
11 - 1-2 103 |=mmr="] 166.76 | 83.75 | 250.51 | 13588 3403930 ESTR
11 - 1-2 104 |=mmir="] 166.76 | 83.75 [ 250.51 | 13588 3403930 EXTS
11 = 12 105 |=mmT="T] 166.76 | 83.75 [ 250.51 | 13588 3403930 ENS
11 - 1-2 106 1=mmim="7] 179.19 | 87.90 | 267.09 | 14088 3762764 EXTS
11 ~ 3-4 301 |—mmir="] 157.84 | 28.23 [ 186.07 | 16971 3157794 £
11 - 3-4 302 |—m=F=7] 147.15 | 25.27 | 172.42 | 16871 2908898 £
11 - 3-4 303 |—m=r=7] 147.15 | 25.27 | 172.42 | 16871 2908898 £
11 ~ 3-4 304 | —pm=r=7] 147.15 | 25.27 | 172.42 | 16871 2908898 EH
11 ~ 3-4 305 | —h =T =T 147.15 25. 27 172. 42 16871 2908898 EH
11 = 3-4 306 | —mmr="] 157.84 | 28.23 | 186.07 | 17371 3232222 ERS
11 - 5-6 501 |mimmrm el 141,74 0. 00 141.74 | 20488 2903969 E
11 ~ 5-6 502 | =RmfT= ‘Tﬂ 134. 96 0. 00 134.96 | 20388 2751564 EXTS
11 = 5-6 503 | =mmir="T] 134.96 0. 00 134.96 | 20388 2751564 £
11 — 5-6 504 |=mmir="7] 134.96 0. 00 134.96 | 20388 2751564 EXTS
11 - 5-6 505 | =mmir =1 134.96 0. 00 134.96 | 20388 2751564 £
11 5-6 506 |@mmrE Bl 141, 74 0. 00 141.74 | 20888 2960665 ER78
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